Civil Airport Imaginary Surfaces Example:

Given an airport with one precision instrument runway: The end of
the runway has the following coordinates (N: 2000, E: 20007) and

(N: 1000°, E: 12000°). The airport established elevation is 2460°
above msl.

Determine the maximum height of a structure ata proposed
construction site with the following coordinates (N: 1900’, E:
25000, Z: 2700’ above msl)
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Runway Capacity

Type of capacity:
. » Ultimate or Saturation (based on backlog of waiting aircrafts for
landing and takeoffs, recommend by text and instructor)

/> Practical capacity (based on tolerable delay)




Factors affecting runway capacity:

» Weather and traffic control conditions (instrument and visual flight
rules: IFR and VFR)

» Number and configuration of runways (parallel, spacing, angle,
EiC..) i

> Fleet mix (same type of aircraft and smaller air craft give higher { “* ‘IV‘U‘?—L
; U ) ey

capacity) e
% Arrival/ Departure Ratio (higher capacity for takeoffs than landing) a2 g
> Number and location of runway exits # bl

> Touch and go operations (sorties for practice) _ .-




Table 16.3, p. 519 provide hourly capacity and annual service
capacity in operations for planning purposes based on aircraft
mix and runway configuration only

Mix index range (from eq. p. 518): ??
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520 Chapter 16 Airport Planning and Layout

Table 16-3 Continued
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Table 16.3, p. 519 provide hourly capacity and annual service

capacity in operations for planning purposes based on aircraft
mix and runway configuration only

Mix index range (from eq. p. 518): ??
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